By iER2
111 2&ExE+

FHELRE | TRHE

WK LR IF R Z A MRS

#rréa i
IR F AR A

—EEETR-
MU HE ALY TRE, - TRE A TEEE X aMER - #HEEER
FAAAE -
1. BRLERHFTAY  FELXRAMBLEEN  AEBHSE SR/ E

T HE
z%ﬁ%%%ﬁﬁ’W?%%ﬁg:%ﬁﬁiﬁgi’@W%iﬁg°
BEAEEEAL A0 SR RS -
42 LRAARE (B8 FERATA -
SEEMLMAECRZLE (G0%) TH -




ERASPE W TSRt e
B LM TRES A#B%# 17 %17
AR MRERBHEL MRS
RS ESEE Y

10% for each question.
1. ¢ = —2zy, withy(0) = 2.
2.y +4/ — 2y =0, withy(0) = 4and ¢’ (0) = —5.

3. (e%TY 4 ye¥)dx + (ze¥ — 1)dy = 0, withy(0) = —1.
4. " + 3y + %y = —10e~ 1%, with y(0) = 2 and 3/ (0) = 0.
5. Given a matrix A = [ é _32 }, determine its eigenvalues and eigenvectors.
6. Given and ODE system 3y’ = 31 y, please solve for y = v (?) .
1 =3 y2(t)
7. 1=2)y" —2zy +2y = 0.
8. vy +3y +2y=46(t—1)
3 0 1 1
9. Find the reduced row echelon form of thismatrix | 1 3 -8 10
4 -4 6 1

—k if —7<z<0

. and f(z +2m) = f(z), find the Fourier coefficients of this
ko if0<z<m

10. Given f(z) = {

function.




